


Name : Date:
Subject: Mathematics
Topic: Subtraction with Regrouping

Subtract to solve the problems.
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Read the problem carefully and solve. Show your working
under each question.

| Jack had $12.25. in his wallet: $
He brought a pair of socks for .
$/070. How much money does
Jack now have in his wallet? . - 'S
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2 One hundred seventy- six Hundreds | Tens | Goes I
grapes are on the table.

Then Noah bumps into the I
table, and ninety grapes fall

off How many grapes - l
are left on the table now?
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